Fluency

) 1363 % 8
) 904, - ka3

) b fifths + & tenths
)

Round &3 to the nearest |0
S) 874k + 877

6) What is the tenths digit in, 5.787
7) 56 % &3
8)
)

10) Johry and, Joshs share £750 betweery
themu Johrv receimed, £200 more thar
Josh. Howe muuch dids J oshy receine?

Fluency

) 1362 % 8
3) 903 - 433

3) & Pfths + 2 tenths

L) Round: 23 to the nearest 10
5) 8743 + 877
6) What is the tenths digit in, 5.787
7) 56 % a3
8)
)

10) Johrv and, Joshs share £750 betweery
themu Johrv receined £200 more thar
Josh. Howe muchs did Josh receine?
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Fluency

) 1343 % 8
) 902 - 433

3) & Jfths + A tenths

L) Round 33 to-the nearest 10

5) 8743 + 877
6) What is the tenths digit in, 5.787
7) 56 % a3
8)
)

Whabl&’th@q,q@shm'?

10) Johry and; Joshs share £750 bebweery
them. John receined, £400 more than
Josh. How muuchs dids J oshy receine?

Year 5 Homework 3™ May

Fluency

) 1362 % 8

) 902 - 433

3) & Pfths + 2 tenths

L) Round: 23 to the nearest, 10
5) 874 + 877

6) What is the tenths digit in, 5.787
7) 56 % a3
8)
8

Whﬂbl&ﬂwe/cwfyshm?

10) John and, Joshs share £750 hetween
them. John received £200 more than
Josh. How muchy dids J oshy receine?




